Journal of Pharmaceutical Research International



32(23): 115-123, 2020; Article no.JPRI.60868 ISSN: 2456-9119 (Past name: British Journal of Pharmaceutical Research, Past ISSN: 2231-2919, NLM ID: 101631759)

Social and Economic Effect of Comprehensive Prevention of Fetal Alcohol Syndrome and Fetal Alcohol Spectrum Disorders in Children: A Review

Anait Yuryevna Marianian^{1*} and Elena Vladimirovna Molchanova¹

¹Scientific Center for Family Health and Human Reproduction Problems (FSBSI SCFHHRP), Irkutsk City, Russia.

Authors' contributions

This work was carried out in collaboration between both authors. Both authors read and approved the final manuscript.

Article Information

DOI: 10.9734/JPRI/2020/v32i2330798 <u>Editor(s):</u> (1) Dr. Mohamed Fathy, Assiut University, Egypt. <u>Reviewers:</u> (1) Mariana Fortunate Donadon, University of São Paulo Estácio University, Brazil. (2) M. P. Somashekar, JSS College of Arts, Commerce and Science, India. (3) K. R. Ramya, RAK Medical and Health Sciences University, United Arab Emirates. Complete Peer review History: <u>http://www.sdiarticle4.com/review-history/60868</u>

Review Article

Received 06 July 2020 Accepted 12 September 2020 Published 30 September 2020

ABSTRACT

Introduction: Maternal alcohol consumption during pregnancy and its effects on the developing fetus are a serious global healthcare issue. The damage caused by alcohol goes far beyond mother's health and spreads to the child's physical and mental health.

Aim of Review: Analysis of existing approaches in organizing the necessary rehabilitation programs and preventing the consequences of drinking alcohol during pregnancy, assessing the potential socio-economic effect of organizing comprehensive prevention of fetal alcohol syndrome (FAS) and fetal-alcohol spectrum of disorders (FASD).

Materials and Methods: Children with FAS and influence of consequences of FAS/FASD on the nation's material well-being conducted in Russia and abroad were analyzed by studying various published literature. Necessary rehabilitation measures for children with FAS/FASD were identified; analyzed international studies on the economic implications of the FAS/FASD; economic costs for medical and correctional services for children with FAS/FASD in Russia were assessed.

Results: This review found that the Not all children with FAS/FASD are mentally retarded, they have behavioral disorders and the development of the emotional-volitional sphere is significantly

behind the age norms. So, at 10-12 years of age, these children are still not contractual and cannot remain without adult supervision even for several hours. They require ongoing parental or tutor support. The range of disorders in fetal alcohol syndrome is very diverse, therefore, each child requires an individual approach in the formation of a rehabilitation program, which significantly increases costs in general and requires the involvement of highly qualified specialists. **Conclusion:** There is a need for additional economic calculations to scale up a comprehensive prevention program throughout the country. It is also important to note that the implementation of preventive measures does not eliminate the need for organizing assistance programs for families raising children with FAS/FASD.

Keywords: Alcohol; fetal alcohol syndrome; children; pregnancy; economic efficiency; FAS prevention.

1. INTRODUCTION

Nowadays, the problem of alcohol abuse among women of childbearing age is a pressing challenge for public healthcare worldwide, because of its effect on health of the future generation.[1,2,3,4,5].

In medical literature, fetal alcohol syndrome (FAS) and fetal alcohol spectrum disorders (FASD) in children was first mentioned more than 45 years ago [5]. According to studies, prenatal alcohol exposure does irreparable harm to the human body, causing inborn lifelong mental and physical disorders [7-12]. FAS has three diagnostic criteria: clearly defined facial dysmorphology, prenatal and postnatal growth deficiencies, and cerebrospinal dysfunction [8,13-15].

According to contemporary researchers, FAS and FASD children suffer growth and weight deficit and have specific facial features – facial abnormalities [16,13], also, they can have hearing and vision problems [17,18,9,10,3,4]. They tend to be far behind and slow in developing self-care skills compared to other children ; also, they have poor memory and attention, hyper- or hypoactive, have serious learning difficulties, lack emotional and behavioral self-control and often have poor understanding of the consequences of their actions [19,16,13].

A child suffering FAS/FASD poses a serious family and social issue. These children need a specific kind of training environment, medical care, continuous psychological assistance and increased parental control [20,21].

Their parents must undergo specific training to learn to care for children with special needs. It should be noted that their parents do need to use family psychologists' help for a long time. Many of them must abandon their positions or look for freelance jobs [22]. A family with a FAS child must stick to a very specific regime. The public, including teachers, grandparents and friends, are not always ready to accept and understand such a family, which leads to another problem - social deprivation [17,19,23,24,16,3,22]. This period may last for decades. It causes trouble for other children who share home with FAS/FASD children [25,26,27,20,28,21]. So the aim of this research was to assess the existing approaches organizing the necessary rehabilitation in programs and preventing the consequences of drinking alcohol during pregnancy, assessing the potential socio-economic effect of organizing comprehensive prevention of fetal alcohol syndrome (FAS) and fetal-alcohol spectrum of disorders (FASD).

2. REVIEW OF THE LITERATURE

In this country, children with such health issues do not qualify for disability benefits. They are entitled to a free special needs preschool training, additional speech therapy and psychological help at school, additional health examinations and treatment, if necessary [29,30,16]. However, families have to radically change their life patterns (change or quit jobs), face additional expenses on special education and neuropsychology. osteopathic help. massage, family psychotherapy, physical therapy special exercise. needs classes. etc [16,31,32,22].

Governmental and family FAS childcare and training budgets are much higher than FAS prevention budgets, which could reduce the number of cases. In Russia, since 2003, the Psychology Department of the St. Petersburg State University, the Nizhny Novgorod State Teachers' University, and the University of Oklahoma Health Sciences Center (the USA), have been performing research on this problem. Since 2005, staff of the University of Oklahoma Health Sciences Center (the USA), the St. Petersburg State University and the St. Petersburg Academy of Pediatrics have been developing educational materials concerning FAS/FASD and prevention of alcohol abuse among women of childbearing age [33,17,18,16,31,7,16,34,4]. The results of research have shown that doctors (particularly obstetricians and gynecologists) are a major source of information about health and pregnancy for women: they tend to follow their advice and tend to trust doctors rather than mass media, specific literature, advertisement, family members or friends [33-35]. A doctor can prevent irreparable in born disorders in children by taking steps to prevent a woman from drinking alcohol [34,13,36,9-37,38]. Pregnant and nonpregnant women of childbearing age are not fully aware of the alcohol's destructive influence on and known strict boundaries fetus the (restrictions) on drinking alcohol during pregnancy [39,33,29].

Currently, the alcohol consumption level in Russia is one of the highest in the world and poses a serious health risk [16,34,1,3]. Alcohol consumption among women of childbearing age is high too [29.30]. The results of research held in St. Petersburg and Nizhny Novgorod have shown that most of non-pregnant women do consume alcohol (86% women in St. Petersburg and 93% women in Nizhny Novgorod), and 20% of pregnant women have confirmed drinking alcohol during pregnancy [33]. Many women believe that a glass of "high quality" alcohol (dry red wine) during normal pregnancy into the second trimester "will do no harm to the fetus or even be healthy". Most can obstetricians/gynecologists, pediatricians and other doctors, who are not directly involved in treatment of alcohol addiction, do not have any relevant experience in discussing alcohol consumption with women or screening women, who are at risk of having FAS/FASD children [33,34,40,9,10,37].

Unfortunately, there is no relevant statistics in Russia to reflect the number of children with FAS/FASD [18]. This is explained by the fact that such a diagnosis requires an expensive comprehensive diagnosis, including a comparison of data on alcohol consumption by the mother during pregnancy, the presence of a set of cognitive deviations and physical defects in the child [29,30,16,20,3,4]. In her paper,

Malakhova Zh.A. (2012) states that FAS incidence among boarding-school type children is 139 cases per 1000 subjects, while FAS incidence among children in general is 18-19 per 1000.

In an analytical paper, U. S. scientists note that in North Dakota, the median yearly expenses on FAS children up to 21 y/o reached \$2842 in 2003, while the expenses on non-FAS children was only \$500. Scientists have calculated that prevention of one case of FAS each year could help save \$128 810 in 10 years and \$491 820 in 20 years [41].

According to research on the influence of FAS and FASD on the material well-being of Canadian public, as of 2013, costs associated with health care, law enforcement, child and youth care, special education, prevention and research expenditures combined with indirect loss due to FASD patients' poor productivity, high morbidity and mortality levels, totaled to around \$1.8 billion. The largest part of FAS-related general loss is accounted for by low productivity due to high morbidity and mortality - 41% (\$532 million to \$1.2 billion) of the general expenses. The second largest part of the loss was associated with treatment of disorders, totaling to 29% (\$378.3 million). The third largest part was due to purchase of medical equipment -10%(\$128.5 to 226.3 million) [42].

Contemporary research demonstrates a necessity of providing medical and psychological support for families with FAS/FASD children until they are 18 y/o. A detailed list of expenditures that are common in Russia is shown in Table 1.

According to the table, the annual costs of rehabilitation of one child with FAS / FASD in Russia will average 385,133 rubles, while the total amount of expenses until the child reaches adulthood will be 6,932,400 rubles. Moreover, the table only considers the costs of medical care and correction of violations. Based on the estimates of Canadian researchers, these expenses categories account for about 40% of the total economic effect [42].

It should be noted that in addition to the costs shown in Table 1, there are expenses for tutoring such children, as well as losses associated with their reduced working capacity in adulthood. Even though not all children with FAS/FASD are mentally retarded, they have behavioral

No	Type of medical/educational help for FAS/FASD children	Unit per	Cost	Annual	Duration	Total
		year	(□).	expenses (□)	(years)	expenses (⊔)
	Early childhood (up to 3 y/o):					
1	Comprehensive testing: pediatrician, cardiologist, otorhinolaryngologist	1	42700	42700	3	128100
	ophthalmologist, surgeon, gastroenterologist, ECG, echocardiography,					
	cranial MRI, neurosonography, abdominal and thyroid ultrasonography,					
	audiometry, impendancemetry					
2	endocrinologist	2	4000	8000	3	24000
3	Geneticist's consultation	1	4000	4000	3	12000
4	Neurologist	4	4000	16000	3	48000
5	Clinical, psychological and psychodiagnostics testing	2	2900	5800	3	17400
6	Clinical and psychological correction	12	2800	33600	3	100800
7	(up to 1 y/o)	4	2800	11200	1	11200
8	Speech therapist (1 to 2 y/o)	18	2800	50400	1	50400
9	Speech therapist (2 to 3 y/o)	36	2800	100800	1	100800
10	Osteopath	4	4000	16000	3	48000
11	Neuropsychologist (2 to 3 y/o)	6	2500	15000	1	15000
12	Orthopedic surgeon	3	4000	12000	3	36000
13	Physical therapy exercises (1 to 3)	48	1500	72000	2	144000
14	Pharmacological treatment	12	3000	36000	3	108000
	Total expenses on 0 to 3 y/o children					715600,00
	Pre-school years (3 to 7 y/o):					
1	Endocrinologist	2	3200	6400	4	25600
2	Neurologist	3	3200	9600	4	38400
3	Special needs expert/special education teacher/pre-school training	40	2800	112000	4	448000
4	Speech therapist	40	2800	112000	4	448000
5	Osteopath	6	4000	24000	4	96000
6	Neuropsychologist	36	2900	104400	4	417600
7	Orthopedic surgeon	3	3200	9600	4	38400
8	Physical therapy exercises/team sports	48	650	31200	4	124800
9	Clinical and psychological correction	10	2800	28000	4	112000
10	Family psychologist	12	4000	48000	4	192000

Table 1. Medical and educational expenses on FAS/FASD children of different age groups [5,43]

Marianian and Molchanova; JPRI, 32(23): 115-123, 2020; Article no.JPRI.60868

No	Type of medical/educational help for FAS/FASD children	Unit per year	Cost (□).	Annual expenses	Duration (years)	Total expenses (⊡)
	Total expenses on 3 to 7 y/o children					1940800.00
	Children 7 to 11 y/o:					•
1	Endocrinologist	2	3200	6400	4	25600
2	Neurologist	2	3200	6400	4	25600
3	Special school education teacher	36	2800	100800	4	403200
4	Speech therapist	36	2800	100800	4	403200
5	Osteopath	3	4000	12000	4	48000
6	Neuropsychologist	36	2900	104400	4	417600
7	Orthopedic surgeon	2	3200	6400	4	25600
8	Sports	80	650	52000	4	208000
9	Clinical and psychological correction	18	2800	50400	4	201600
10	Clinical, psychological and psychodiagnostics testing	4	2900	11600	4	46400
11	Family psychologist	12	4000	48000	4	192000
	Total expenses on 7 to 11 y/o children					1996800,00
	Children 11 to 18 y/o:					
1	Endocrinologist	1	3200	3200	7	22400
2	Neurologist	2	3200	6400	7	44800
3	Special school education teacher	36	2800	100800	7	705600
4	Osteopath	3	4000	12000	7	84000
5	Neuropsychologist	18	2900	52200	7	365400
6	Orthopedic surgeon	1	3200	3200	7	22400
7	Sports	80	650	52000	7	364000
8	Clinical and psychological correction	18	2800	50400	7	352800
9	Clinical, psychological and psychodiagnostic testing	2	2900	5800	7	40600
10	Family psychologist	12	3300	39600	7	277200
	Total expenses on 11 to 18 y/o children					2 279 200
	Whole-period expenses per FAS/FASD child					6 932 400

disorders and the development of the emotionalvolitional sphere is significantly behind the age norms. So, at 10-12 years of age, these children are still not contractual and cannot remain without adult supervision even for several hours. They require ongoing parental or tutor support. The range of disorders in fetal alcohol syndrome is very diverse, therefore, each child requires an individual approach in the formation of a rehabilitation program, which significantly increases costs in general and requires the involvement of highly qualified specialists.

There is also an urgent need for further social support for such people: assistance in finding a job, mentoring or tutor support, leisure activities, psychological assistance in various situations.

3. CONCLUSION

Therefore, a lifelong assistance for people with fetal alcohol syndrome is a serious social issue. To solve it, all countries need resources, both economic and social. It is possible to reduce FAS-related expenses through implementation of effective social practices and prevention programs.

It is vital to launch a FAS/FASD prevention program nationwide. Similar programs have been successfully implemented in the USA, Canada, and Europe. As part of such a program, health care institutions should test and screen women of childbearing age on a regular basis to reveal and prevent alcohol-induced and related issues. An integrated and systemic approach to organizing FAS prevention will significantly reduce the number of FAS/FASD children. This will help the government save on treatment, care, and education of such children, as well as improve general social security and psychological comfort. The funding of FAS/FASD prevention programs can be economically efficient and beneficial for the society in general.

Therefore, organization of programs of comprehensive prevention of fetal alcohol syndrome and fetal alcohol spectrum disorders in children is vital for public health care nowadays, and it is socially and economically relevant in terms of whole-public interests for the following reasons:

- 1. The FAS/FASD prevention program is aimed at improving health of the public in general.
- 2. Most preventive measures can be organized in a group, non-individual

format, which significantly reduces the time and financial costs compared to rehabilitation programs.

- 3. Prevention measures are periodic (more active at the pregnancy planning and childbearing stages), while treatment of a FAS/FASD child should be continuous.
- 4. No specific education is required for implementing prevention programs.
- 5. There is a necessity to perform additional economic calculations to scale up a comprehensive prevention program nationwide.

CONSENT

It is not applicable.

ETHICAL APPROVAL

It is not applicable.

COMPETING INTERESTS

Authors have declared that no competing interests exist.

REFERENCES

- Chudley AE, Conry J, Cook JL, Loock C, Rosales T, Le Blanc N. Fetal alcohol spectrum disorder: Canadian guidelines for diagnosis // CMAJ: Canadian Medical Association journal = journal de l'Association medicale canadienne. 2005;172(5):S1-S21. DOI:10.1503/cmai.1040302.
- 2. National Institute on Alcohol Abuse and Alcoholism (NIAAA). Helping patients who drink too much: A clinician's guide; 2005. Available:https://pubs.niaaa.nih.gov/public ations/practitioner/cliniciansguide2005/clini cians guide.htm
- Popova S, Lange S, Probst C, Gmel G, Rehm J. Estimation of national, regional, and global prevalence of alcohol use during pregnancy and fetal alcohol syndrome: A systematic review and metaanalysis // The Lancet Global Health. 2017;5(3):290-299.
 - DOI:10.1016/S2214-109X(17)30021-9.
 - Popova S, Yaltonskaya A, Yaltonsky V, Kolpakov Y, Abrosimov I, Pervakov K, Tanner V, Rehm J. What research is being done on prenatal alcohol exposure and fetal alcohol spectrum disorders in the Russian research community? // Alcohol

4.

and alcoholism (Oxford, Oxfordshire). 2014;49(1):84–95.

DOI:10.1093/alcalc/agt156.

- 5. World Health Organization. Global status report on alcohol and health. Geneva: World Health Organization. 2018;450.
- Jones KL, Smith DW, Ulleland CN, Streissguth AP. Pattern of malformation in offspring of chronic alcoholic mothers. Lancet 1973;1:1267-71.
- Protopopova NV. Influence of Alcohol on the Fetus and Pregnancy Outcome. Fetal Alcohol Syndrome and Fetal Alcohol Spectrum of Disorders / Protopopova N. V., Kolesnikova L. I., Marianian A. Yu. // Bulletin of the East Siberian Scientific Center of the Siberian Branch of the Russian Academy of Sciences (ESSC SB RAS). 2013;6(94):187–192.
- Jennifer D, Thomas D, Kenneth R, Warren D, Brenda G. Hewitt Fetal Alcohol Spectrum Disorders From Research to Policy Alcohol Res Health. 2010;33(1-2):118–126.
- 9. Marianian A, Atalyan A, Bohora S, Darenskaya M, Grebenkina L, Kolesnikova Kolesnikov S, Mikhaylevich I, L. Protopopova N, Stockett M, Yamaoka Y, Balachova T. The effect of low alcohol consumption during pregnancy on the lipid peroxidation-antioxidant defense system of women, their alcohol-exposed infants, and health. and developmental growth. outcomes // Journal of Birth Defects Research. 2019;1-13. (Web of science, Scopus, Online ISSN:2472-1727; Q2; IF-1.69; SJR:0.71;DOI:10.1002/bdr2.1582).
- Marianian AY, Kolesnikova LI, Protopopova NV, Burina EA, Kalinkina OB. Awareness of doctors about the problem of fetal alcohol syndrome and fetal alcohol spectrum of disorders in Irkutsk // Alcoholism: Clinical and Experimental Research. 2018;42(6):74.(Web of science, Q2; IF 2.829.DOI.org/10.1111/acer.13747).
- Skagerstrym J, Chang G, Nilsen P. Predictors of drinking during pregnancy: A systematic review. Journal of Women's Health. 2011;20(6):901–913. Available:https://doi.org/10.1089/jwh.2010. 2216
- Warren KR, Bast RJ. Alcohol-related birth defects: an update. Public Health Rep. 1988;103(6):638-42.
- Bandoli G, Coles CD, Kable JA, Wertelecki W, Yevtushok L, Zymak-Zakutnya N, Chambers CD. Patterns of prenatal alcohol

use that predict infant growth and development. Pediatrics. 2019;143(2):20182399.

Available:https://doi.org/10.1542/peds.201 8-2399

- 14. Hemingway SJA, Bledsoe MJ, Davies KJ, Brooks A, Jirikowic T, Olson MEC. Thorne J. Twin study confirms virtually identical prenatal alcohol exposures can lead to markedly different fetal alcohol spectrum disorder outcomes-fetal genetics influences fetal vulnerability // Advances in Pediatric Research. 2018;05:03. DOI:10.24105/apr.2019.5.23.
- 15. Kosyh EA, Balachova T, Bonner B, et al. Alcohol consumption by pregnant women in the Nizhny Novgorod region, Russia // Alcohol Clin Exp Res. 2010;34:111.
- Yaltonskaya AV, Yaltonsky VM, Kolpakov YaV [et al.]. Consumption of Alcohol during Pregnancy and Fetal Alcohol Spectrum Disorders in Russia: a Systemic Review of Literature // Narcology. 2014;(6):81–90.
- Malakhova ZhL. Clinical and pathogenic basis for fetal alcohol syndrome in early childhood, Ekaterinburg City, Medical Dissertations; 2012. Available:http://medicaldiss.com/medicina/klinikopatogeneticheskie-osnovy-fetalnogoalkogolnogo-sindroma-u-detey-rannegovozrasta#ixzz6F3zINNwo
- Palchik AB. Fetal Alcohol Syndrome: manifestations and dynamics / Palchik A. B., Legonkova S. V. // V. M. Bekhterev Review of Psychiatry and Medical Psychology. 2011(3):17–20.
- Starodubov VI, Varavikova EA. Alcohol Health Damage and Fetal Alcohol Syndrome Prevention Coordination Board at FSBI CSRIHOIMH. Available:https://mednet.ru/mezhdunarodn aya-deyatelnost/koordinatsionnyj-sovetfasn
- 20. Fetal alcohol Spectrum Disorder Caregiver Success Support Group Available:https://www.facebook.com/group s/FASDFOREVER/?ref=group_header
- 21. Making Sense of the Madness and FASD Survival Guide by Jeff Noble of FASDFOREVER.COM and Tara Soucie, BA, BSW.
- 22. The Family Improvement Network: A Service Model to Address the Needs of Children and Families Affected by Fetal Alcohol Spectrum Disorders / Wilton G.,

Plane M.B.et al. // Pediatric Nursing. 2006;32(4):299–310.

- Fetal Alcohol Syndrome: Support Group for Parents. Available:https://www.facebook.com/group s/1263627697115550/?ref=group_header
- 24. Fetal Alcohol Syndrome: Guidelines for Referral and Diagnosis. Available:http://netfas.net/pro/index.php?p age=11
- 25. Molchanova EV. Experience of Working with FAS Children;2016. Available:https://old.mednet.ru/images/stori es/files/obrachenie__mednet.pdf
- Molchanova EV. Experience of Adopting a FAS Child; 2013. Available:https://old.mednet.ru/images/stori es/files/fas/Molchanova_fas_09_09_2013. pdf
- Cook JL, Green CR, Lilley CM, Anderson SM, Baldwin ME, Chudley AE, Conry JL, LeBlanc N, Loock CA, Lutke J, Mallon BF, Mc Farlane AA, Temple VK, Rosales T. Fetal alcohol spectrum disorder: A guideline for diagnosis across the lifespan // CMAJ : Canadian Medical Association journal=journal de l'Association medicale canadienne. 2016;188(3):191–197. DOI:10.1503/cmaj.141593.
- Hoyme HE, Kalberg WO, Elliott AJ, Blankenship J, Buckley D, Marais AS, Manning MA, Robinson LK, Adam MP, Abdul-Rahman O, Jewett T, Coles CD, Chambers C, Jones KL, Adnams CM, Shah PE, Riley EP, Charness ME, Warren KR, May PA. Updated Clinical Guidelines for Diagnosing Fetal Alcohol Spectrum Disorders // Pediatrics. 2016;138(2). DOI:10.1542/peds.2015-4256.
- 29. Dikke GB. A Necessity to Shift Health Care Paradigm toward Extensive Prevention. / Dikke, G.B. // Effective pharmacological therapy in obstetrics and gynecology. 2011(3):4–8.
- Dikke GB. Fetal Alcohol Syndrome and Spectrum Disorders / Dikke G. B; Eropheyeva L. V. //Pharmateca. 2012(12):26–30.
- Alcohol as a Factor Affecting the Fetus. Occurrence of Fetal Alcohol Syndrome / Marianian A. Yu., Protopopova N. V., Kolesnikova L. I. [et al.] // Siberian Medical Magazine. 2013;122(7):5–9.
- 32. Robert M, Carceller A, Domken V. et al. Physical and neurodevelopmental evaluation children adopted from Eastern

Europe / // Can. J.Clin. Pharrnacol. 2009;16:432-440.

- Balashova TN, Isurina GL, Palchik AB, Shapkaits VA, loffe AM, Regentova AYu. Research and FAS prevention team. Fetal Alcohol Syndrome: Guidelines for Referral and Diagnosis; 2009.
- Balashova T, Bonner B, Chaffin M, Bard D, Isurina G, Tsvetkova L, Volkova E. Women's alcohol consumption and risk for alcohol-exposed pregnancies in Russia. Addiction. 2012;107(1):109–11. Available:https://doi.org/10.1111/j.1360-0443.2011.03569.x
- 35. Alvik A, Haldorsen T, Groholt B, Lindemann R. Alcohol consumption before and during pregnancy comparing concurrent and retrospective reports. Alcoholism Clinical & Experimental Research. 2006;30(3):510–515. Available:https://doi.org/10.1111/j.1530-0277.2006.00055.x
- Burina EA, Kulieva AK, Marianian AY. The risk of fetal alcohol syndrome in pregnant women and women planning pregnancy // Alcoholism: Clinical and Experimental Research. 2018;42(6):75.(Web of science, Q2; IF 2.829;DOI:https://doi.org/10.1111/acer.138

2.829;DOI:https://doi.org/10.1111/acer.138 33).

- Marianian AYu, Kuzmin MYu, Atalyan AV, 37. Markova DP, Suturina LV. Alcoholic Behaviour and Assessment of the Quality of Life of Reproductive Age Women in Eastern Siberia. Advances in Health Research. 2019;179-182. Sciences (https://doi.org/10.2991/ichw-19.2019.42; ISSN 2468-5739; (Online): https://www.atlantispress.com/proceedings/ichw-19/125920970.Copyright © 2019. the Authors. Published by Atlantis Press. This is an open access article under the CC BY-NC license (http://creativecommons.org/licenses/bync/4.0/).
- O'Connor MJ, Whaley SE. Brief intervention for alcohol use by pregnant women. AmericanJournalofPublicHealth. 2007;97(2):252–258. Available:https://doi.org/10.2105/ajph.2005 .077222
- Bertrand J, Floyd RL, Weber MK, O'Connor M, Riley EP, Johnson KA, Cohen DE, National Task Force on FAS/FAE. Fetal Alcohol Syndrome: Guidelines for Referral and

Diagnosis. Atlanta, GA: Centers for Disease Control and Prevention; 2004. (Russian translation and reviewed original version).

- 40. Danis RP, Newton N, Keith L. Pregnancy and alcohol. CurrProblObstet Gynecol. 1981;4(6):2-48.
- 41. Marilyn G. Klug Larry Burd, Fetal alcohol syndrome prevention: annual and cumulative cost savings Department of Pediatrics, North Dakota Fetal Alcohol Syndrome Center, University of North Dakota School of Medicine and Health Sciences, 501 N. Columbia Road, Grand Forks, ND 58203, USA, Accepted 11 July 2003,

Available online? 9 October, 2003

42. Svetlana Popova, Shannon Lange, Larry Burd, Jürgen RehmThe Economic Burden of Alcohol Fetal Spectrum Disorder in Canada in 2013 Alcohol and Alcoholism. 2016;51(3):367-375. Available:https://doi.org/10.1093/alcalc/agv 117, Available:https://academic.oup.com/alcalc/ article/51/3/367/2888203

 43. Price list as of Russian Pediatric Clinical Hospital; 2020. Available:https://rdkb.ru/files/price-2020-1.pdf

© 2020 Marianian and Molchanova; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

> Peer-review history: The peer review history for this paper can be accessed here: http://www.sdiarticle4.com/review-history/60868